93

AR BN

O HAEUATERFIR(AOI0BALY)

88117 : R
EENE [E] BT
E =S 64.0
=I5 8 1202 | 1
BEHER 106.1 | 2
g 8 1056 | 3
5 N B 987 | 4
= X 8 933 | 5
=8 B 65.0 | 30
E R 52.4 | 43
HmE R 52.1 | 44
=R E 519 | 45
FEEE] 51.9 | 46
72 m e 492 | 47

88117 R
m B [E] BT
AN fe 8 1536 | 1
fo & 1356 | 2
EEBm 1046 | 3
N e 1038 | 4
fo dt & 1027 | 5
83 %0 @ 1025 | 6
BE B ™ 940 | 7
EEREE-L] 910 | 8
& E 825 | 9
P BM 815 | 10
B k™ 799 | 11
E = @ 765 | 12
S WM 742 | 13
T o & 731 | 14
Z S W 713 | 15
2 m 703 | 16
g W™ 702 | 17
MW Bk ™ 62.8 | 18
AV AN 62.3 | 19
g 85 @ 62.1 | 20
PE® 62.0 | 21
iz = 1) 61.9 | 22
=8 ™ 570 | 23
JI 8 529 | 24
mBmm 517 | 25
i BB ™ 496 | 26
In 8 394 | 27
8 B8 @ 36.3 | 28
A SIPE 332 | 29
(&R HAT)
EAEGEATHEUERS
BAO:-BEERERIER
[(BHAE] HEEUmRER
(E&] #aEutmERE: &R;

im ARERER. REREL

e

SF241081H

Vg

[ eE%]

(KLE) (R
W0 ~

80 ~ 100

60 ~ 80
B0 ~ 60

(B4 e E%]

(UE) (R
Moo ~

80 ~ 100

60 ~ 80
B 20 ~ 60

40

B, EEEXERSF. SRETEHSSMIIRER.
F- RFEUMER. TDOMOHRBIUIERE OEEH

BI2F1081 BIRED=8EDAD10DAZLCD DI EREHE
FEsRE 365 0% T, EEIBMIE30MIER>TNET,

BNTE, A, foxl, BEBDIRICZ<ZE>TNET,
73, AR89, #BH, METFEIDEIIEO>TNET,



